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JIE {5z mEES OUT IN GROSS HDCP NET JE {5z HEES OUT IN GROSS HDGP NET JE {5z BEES OUT IN GROSS HDGP NET JIE {5z HHEA OUT IN GROSS HDGP NET
#® B Ha IEIL 3 45 80 17.6  62.4 66 A A 40 39 19 9.6 69. 4 13160 2% BX 43 42 8  14.4  70.6 19662 4L 18 38 37 15 3.2 71.8
26 FBa B=E 50 44 94 30.4 63.6 616 &k B 43 44 87 1.6 69.4 1327 FF = 38 39 77 6.4 70.6 197 BE =& 49 50 99 27.2 71.8
L T B 39 47 86 22.4 63.6 685  NgE Zal 39 40 79 9.6 69. 4 13362 FA iE# 38 39 77 6.4 70.6 1986 WA =—. 49 50 99 27.2 71.8
R EE3 40 45 85  20.8 642 60 Mm% =8 3 31 71 1.6 69. 4 1346 #@ iEB 47T 54 101 30.4 70.6 1996 =8 =—. 37 38 75 3.2 71.8
b A ME 36 46 82 1.6 644 06 2k BEe 3B 4119 9.6 69. 4 1356 KB =X 47T 54 101 30.4 70.6 2000 Bk B 40 43 83 11.2 71.8
660 e MRk 46 46 92 27.2 648 76 %@ Bie 38 41 19 9.6 69. 4 136/ XA Bx 42 51 93 224 70.6 201 #hkx B 48 51 99 27.2 71.8
6 BN & 42 41 83 1.6 654 7260 Bk RiR. 49 54 103 33.6  69.4 13762 AH HAER 39 35 74 3.2 70.8 200 Mk =8 36 39 75 3.2 71.8
8L WA —= 7 49 91 256 654 7360 EIL T 40 47 87 1.6 69.4 138 =—tn FEik 42 40 82 11.2 7J0.8 203fL Nk Bfm 40 43 83 11.2 71.8
9 =A I 36 36 12 6.4 65. 6 T4 IIF ®BH 42 53 95  25.6 69.4 306 NER = 45 45 90 19.2  70.8 20461 BAE HE 40 43 83 11.2 71.8
06 BlE Wik 37 48 85 19.2 658 756 M&E B 40 36 76 6.4 69.6 1406 B B2, 37 371 14 3.2 70.8 20562 LA fBal 4T 52 99  27.2 T71.8
1L #alE =+ 4 46 90 240 66.0 766 e 28 37 39 76 6.4 69.6 46 #Aa &kt 37 31 74 3.2 70.8 2061 FiA &R 39 44 83 11.2 71.8
26 2K == 39 40 719 12.8  66.2 716. AHE =o 48 52 100 30.4 69.6 1420 &2 5 4 46 90 19.2  70.8 207 EFH Z=A 4T 52 99  27.2 T71.8
36 Wi 3% 41 54 95  28.8 662 786 ¥IA BE 36 40 76 6.4 69.6 14360 BE =x 43 47 90 19.2 70.8 2081 JIE =m 48 40 88 16.0 72.0
T4 Kg HF 40 52 92 25.6 664 196 Al e 36 40 76 6.4 69.6 144 ME & 43 47 90 19.2 70.8 20072 WA =& 45 43 88 16.0 72.0
TS 45 44 89  22.4 66.6 80fL fgim = 35 41 76 6.4 69.6 1450 i Mo 42 43 90 19.2 70.8 21000 Bl == 49 47 9 240 72.0
166 A B 40 41 81 144 66.6 81 Il fB— 39 45 84 144 69.6 146/ IUF 1EZ 44 54 98  27.2 70.8 2 28 =A 49 47 9 240 72.0
76 Al e 42 36 718 11.2 66.8 8 A B2, 37 47 84 144 69.6 476 Bl Sa 43 36 19 8.0 71.0 220 =i =1oA 40 40 80 8.0 72.0
186 Whlm Br 40 46 86 19.2  66.8 R FETESS 37 47 84 144 69.6 14860 #HF B 20 39 79 8.0 71.0 21361 &  1EHI 40 40 80 8.0 72.0
196 ANl =Xk 43 51 94 27.2 66.8 84 BH/AK #rm 42 39 81 11.2 69.8 4 M%x Bf 35 36 71 0.0 71.0 214f7 falm =, 40 40 80 8.0 72.0
S 38 45 83 16.0 67.0 850 sHE &, 48 49 97 27.2 69.8 506 Tk e 43 44 8] 16.0 71.0 21507 sEH BEF 40 40 80 8.0 72.0
2160 IE ZEB 45 43 88  20.8  67.2 86GL  #AJIl #NEhm 40 41 81 11.2 69.8 51 =AWl 35 36 71 0.0 71.0 2160 KR IEAR 44 44 88 16.0 72.0
2270 mHE Eaa 37 51 88  20.8 67.2 37 M%k = 36 37 73 3.2 69.8 52 M%x =8 35 36 71 0.0 71.0 2170 % SHt 39 41 80 8.0 72.0
2300 BHAR #Z 35 39 74 6.4 67.6 88%L gk ZB 39 42 81 11.2 69.8 1536 Ko &® 38 41 19 8.0 71.0 218z #n%r HEHY 39 41 80 8.0 72.0
20 HE BIA 41 49 90 22.4  67.6 80T &HA A%k 4T 50 97 27.2 69.8 54 M%x =8 3 31 71 0.0 71.0 AL 42 46 88 16.0 72.0
2560 Bk BB 37 45 82 144 6.6 06 Zx mE 43 46 80 19.2 69.8 1550 BB Ik &1 46 87 16.0 71.0 2200 =i =— 45 51 96 240 72.0
2660 Bl f9al 42 37 19 11.2 67.8 91z Hgm L 39 42 81 11.2 69.8 560 =78 Wl 33 33 71 0.0 71.0 21 =B =—. 37 43 80 8.0 72.0
210 M% =8 37 34 71 3.2 67.8 92 HKX = 43 46 89  19.2 69.8 5 Mm% Bf 33 33 71 0.0 71.0 22215 BE BmET 37 43 80 8.0 72.0
2800 ®EH AET 40 39 719 11.2 67.8 B mME =8/ 35 38 73 3.2 69.8 15860 iz IOk 49 54 103 32.0 71.0 223 =@ =BT 36 44 80 8.0 72.0
207 BK BB 39 40 719 11.2 67.8 9 BE F— 3 39 73 3.2 69.8 1590 MA B 36 43 19 8.0 71.0 2245 Nk Zal 36 44 80 8.0 72.0
0 ZH B 42 45 8] 19.2 67.8 956 %@ J=F 38 43 81 1.2 698 1607 @it BE 39 37 16 4.8 71.2 225%z (LI saam 43 53 9 240 72.0
3 I TL# 42 45 8] 19.2 67.8 96 m=E =—. 38 43 81 11.2 69.8 [AE 51 49 100 28.8  71.2 226z =i =— 47T 46 93 20.8  72.2
20 AA IEH] 37 42 19 11.2 67.8 9 WA =k 42 47 89 19.2 69.8 1626 Bm7E Xl 47 45 92 208 71.2 2211 ANl % 42 43 85  12.8  712.2
B mME =8 32 39 71 3.2 67.8 98 ANl = A 40 49 89 19.2 69.8 1632 faA X 50 50 100 28.8  71.2 2280z JIIAA % & 44 85 12.8  712.2
ML BHAR FZ 35 33 68 0.0 63.0 9% WA =& 39 50 89 19.2 69.8 1645 #H Eaa 4 42 84 12.8 T71.2 2207 RIR = 45 43 93 20.8  72.2
356 Bk =ik 36 40 76 8.0 63.0 006 mE = 36 34 10 0.0 70.0 1657 =i T 38 38 76 4.8 71.2 2200 =@ ®WKTF 43 50 93 20.8  72.2
366 mHE Ea 39 45 84 16.0 68.0 01 Mm% B8 35 35 70 0.0 70.0 166/ Hm Ik 4 42 84 12.8  T71.2 23160 EE IEX 43 50 93 20.8  72.2
I HAR 33 43 76 8.0 63.0 1026 Mm% Bf 38 40 78 8.0 70.0 1676 #F Srk 4 48 92 20.8 T71.2 2320 #hA A2 38 47 8  12.8  712.2
BEL  AA BhiT 39 53 92 240 680 1036 #A =% 42 44 86 16.0 70.0 1685 /NE B 48 52 100 28.8 71.2 233F1  WE =Fm. 44 57 101 28.8  72.2
306  HHE Ea 40 41 81 12.8 68.2 104 MZ%x Bf 33 37 10 0.0 70.0 16962 LA 3kF 35 41 76 4.8 71.2 24w =% B& 4 38 82 9.6 72.4
0 Al BE 39 42 81 2.8 682 050 A M=on. 40 46 86 16.0  70.0 ES 39 45 84 12.8  T71.2 23500 EE =k 3 39 82 9.6 72.4
4 B s 46 51 97 28.8 68.2 1066 &K #Z 36 42 78 8.0 70.0 7 =28 &= 43 49 92 20.8 T71.2 2362 KM 1RAl. 45 45 90 17.6  712.4
I EEEES 40 49 89  20.8 68.2 [ S 40 46 86 16.0  70.0 1720 EF BE3& 46 54 100 28.8  71.2 23706 mE =1oA 37 31 74 1.6 72.4
13 poB Em 46 40 86 1.6  68.4 10862 ;PE #0%k. 38 43 86 16.0  70.0 1736 #E =X 48 41 89 17.6 T71.4 2380 A fBe 37 31 74 1.6 72.4
RG] 40 38 78 9.6 63. 4 100 @i = 30 40 70 0.0 70.0 74 =i 5= 48 49 97 256 7114 2397 Al B 52 54 106  33.6  12.4
5 =@ oF 42 44 86 17.6 684 1106 #HE Ea 48 43 91 20.8 70.2 1756 kIx ZBR 20 41 8l 9.6 71.4 2000 BHARK BB 4 46 90 17.6  712.4
46 2EMH BEF 37 38 75 6.4 63.6 G EEEET 39 36 75 4.8 70.2 1766 AIEH s F 43 46 89 17.6  T71.4 201 ZhE [Ea) 0 42 82 9.6 72.4
416 RIR %M 37 38 75 6.4 63.6 11262 ILiF BE 36 39 75 4.8 70.2 177 =th Eik 37 44 8l 9.6 71.4 24207 |LEH F— 48 50 98 25.6 124
480  EE Ik 40 51 91 22.4 68.6 IRAEEREZS 52 55 107 36.8  70.2 1786 Rk BE 37 44 81 9.6 71.4 2030 FH fa— 43 47 90 17.6 712.4
N HE FE 40 51 91 22.4 68.6 146 &Il Fa& 37 46 83 12.8  70.2 1796 ANl 1§ 4 43 89 17.6  71.4 S E Y IR 46 52 98  25.6  12.4
5060 +H Ex= 43 45 88  19.2 68.8 1152 #HA BAF 20 51 91 20.8 702 1805 ##A FA—Ep 4 43 89 17.6  T71.4 245f2 (LEH ©A 42 43 90 1.6 712.4
51 Mm% =8 3 38 12 3.2 63.8 160 =@ &r 4 38 80 9.6 70. 4 1816 =B & 35 46 81 9.6 71.4 2061 Ry = 4 49 90 17.6  712.4
527 @A BAx. 4 55 96 27.2  68.8 6L Bk &5 41 39 80 9.6 70. 4 18274 =M %M 39 50 89 1.6 71.4 20471 ARk %R 35 47 82 9.6 72.4
53 /A = 43 42 85 16.0 69.0 1186 iR WL 41 39 80 9.6 70. 4 183 A =&F. 38 51 89 1.6 71.4 2480 TEA W 57 46 103 30.4  72.6
54 ILIE BE 38 39 77 8.0 69.0 119 B2 53 40 40 80 9.6 70. 4 1840 M B 40 38 78 6.4 71.6 20000 Mk =—. 46 41 8] 14.4 72.6
5500 LA fBAR 36 41 7] 8.0 69.0 1206 WA =E 44 44 88 17.6  10.4 18562 BRIl Fike= 43 43 86 144 T71.6 2506 8 B 2 37 19 6.4 72.6
560 A EF 43 50 93 240 69.0 217z #H TBF 48 43 9  25.6  10.4 18602 & ME 4 4 86 144 T71.6 2510 Al fa—. 45 42 8] 144  T72.6
5/ Hgm IEIL 35 42 77 8.0 69.0 12200 HE Bk 39 41 80 9.6 70. 4 18762 sFL 1B 42 4 86 144 T71.6 S 53 50 103 30.4  72.6
5860 HA A 38 47 8  16.0 69.0 12360 &K BX 39 41 80 9.6 70. 4 188 =i T 45 49 94 2.4  T71.6 253f7 HTR ki 20 39 79 6.4 72.6
506 Bk Mo 41 52 93 240 69.0 124 FAA 1EH| 3% 38 12 1.6 70. 4 80 2 ==E 4 50 94 224 T71.6 254 tiE B— 4 43 8] 144  72.6
60 Al A 41 82  12.8  69.2 125060 =l O 46 50 96  25.6  70.4 190 H&P =8 47T 55 102 30.4 71.6 2550 =B m—. 43 44 8] 144  72.6
616 HH = 43 47 90 20.8 69.2 12660 &K 75— 42 46 88 17.6  10.4 1916 RO RE 35 43 78 6.4 71.6 25617 #HER Bk 47T 48 95  22.4  72.6
626 HP = 43 47 90 20.8 69.2 127/ #alE wk 50 54 104 33.6 _ 70.4 192/ /e &ER. . 45 38 83  11.2  71.8 2576 1@ R 43 44 8] 144  712.6
63 =B =8, 43 47 90 20.8  69.2 1280 A BB & 47 88 17.6  710.4 193 HiE = 48 43 91 19.2 71.8 2580 m/K MUF 4 45 8] 144  T12.6
64%i Hgm IEIL 38 44 82 12.8  69.2 12060 Mg & 40 43 88 17.6  10.4 1946w - 55 52 107 35.2  71.8 2500 IR oW 38 41 19 6.4 72.6
65c /B B 38 44 82 12.8 69.2 1302 B2 53 39 49 88 17.6 7104 195/ BH AR 39 36 75 3.2 71.8 2606 & A & 46 8] 144  T72.6
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JIE {5z mEES OUT IN GROSS HDCP NET JIE{sz HEES OUT IN GROSS HDGP NET JE {5z BEES OUT IN GROSS HDGP NET JIE {5z HHEA OUT IN GROSS HDGP NET
2616 A BBE 37 42 19 6.4 72.6 3266 ZH ANF, 43 48 91 17.6  13.4 AR 39 40 79 4.8 74.2 N EEEEES 41 45 86 11.2 748
2620 BA —1@ 49 54 103 304  72.6 7 #FH BRI 39 44 83 9.6 73.4 302f1 EBE &M 51 52 103 28.8  74.2 4576 #HAR 2 37 41 78 3.2 74.8
R IRED 45 50 95  22.4  72.6 3287 GRE =&k, 46 53 99 256  73.4 303 #Ak =ik 43 44 8] 12.8 142 458f1 LA EEA 40 46 86 11.2 748
26460 KB BE 37 42 19 6.4 72.6 329 BiE B 37 46 83 9.6 73.4 3047z /ME & 2 45 8] 12.8 142 4507  ¥AF #F 47 55 102 27.2 148
265 =M & 49 54 103 30.4 72.6 3306 BlR E—. 48 40 88 14.4  73.6 305 W Sh 38 41 19 4.8 74.2 4600 =0 BRE 43 51 94 19.2 748
266 Mm% =8 37 4219 6.4 72.6 T RS 46 42 88 14.4  73.6 30661 #EEY A 2 45 8] 12.8 142 M1 E2F & 45 57 102 27.2 148
2611c  X1F KA 46 8] 144 712.6 33262 Fh I 4 38 80 6.4 73.6 7 BHK B 4 45 8] 12.8 742 1627z = b=+ 48 43 91 160 750
268 /NE BT 36 43 19 6.4 72.6 KRR R 49 47 9 22.4 73.6 398 WH H— 46 49 95  20.8  74.2 163 m%x =8 39 36 75 0.0 75.0
260 @A E— 40 47 81 144 712.6 33460 EM BE=E 44 44 88 14.4  73.6 300 =H %= & 46 87 12.8 142 464 FEA 2k 4T 44 91 16.0 750
21062 Al 15 39 43 87 14.4  72.6 335z (L F IEZF 44 44 88 144  713.6 4006 A B2 40 47 87 12.8 7142 46561 T Hw 58 5/ 1156 400 750
2710 Bl #ikes 39 48 8/ 144 712.6 336 EE Bk 39 41 80 6.4 73.6 101z &&HE =&k, 44 51 95 20.8  74.2 1660z =2 21, D 41 83 8.0 75.0
A EES 38 49 8/ 144  72.6 IECEEER 43 45 88 144  73.6 4026 FE BWi— 48 55 103 28.8  74.2 467 Al &% 46 45 91 16.0 750
2730 Nk 2B 38 38 76 3.2 72.8 338 AH & 4T 49 9  22.4 73.6 4032 UM A 50 47 8] 12.8 742 468FL M Fl. 53 54 107 32.0 750
2747 BA ZEm+. 42 42 84 11.2  712.8 339f AA IEH 39 41 80 6.4 73.6 4046 A EE 35 44 19 4.8 74.2 460 #A FZ 37 38 15 0.0 75.0
AREREENET 49 51 100 27.2  712.8 JA0RL =/ BA 39 41 80 6.4 73.6 4050 BE —B 46 57 103 28.8  74.2 400 R B 45 46 91 160 750
276 Ak Ba 43 84 11.2  12.8 3T IA F%k 38 42 80 6.4 73.6 4066 ##x &I, . 41 45 92  17.6 144 4T /)l B 45 46 91 16.0 750
27762 WA Bk 43 84 11.2  712.8 34260 EM BE=E 42 46 88 14.4  73.6 077 IR t— 47 45 92  17.6 144 Nt BB & 40 43 83 8.0 75.0
21801 EAR fE% 20 44 84 11.2 712.8 3 IBE = 4 46 88 144  713.6 408 EIB =6, 47 45 92 17.6 144 A73% MRl ZEES. 44 47 91 16.0 750
21961 Bk = 44 48 92 19.2 72.8 JM FR =— 4 46 88 144  713.6 4096 ¥@ F— 46 46 92 17.6 144 474 W 753 43 48 91 16.0 750
28061 A A 35 41 176 3.2 72.8 3450 R EA 40 43 88 14.4  73.6 A0 IM BABR 50 50 100 25.6 744 4756 FE B 43 43 O 6.0 750
28T AW T 46 54 100 27.2  712.8 J46F B B 40 43 88 14.4  73.6 i EF BX 46 46 92 17.6 144 NEFETE 39 44 83 8.0 75.0
28202 AR — 49 43 97 240 73.0 K RS 40 43 88 14.4  73.6 260 F B - 4 84 9.6 74. 4 4T BNl =R 42 49 91 160 750
2831 [Zx FIF 20 41 81 8.0 73.0 J48FL *RiE TEF 4 52 9 22.4 73.6 4136 7 R - 4 84 9.6 74. 4 N TR 40 40 80 4.8 75.2
2841 SRk #Z 36 37 13 0.0 73.0 9L #H& EHR 52 60 112 38.4  73.6 44 ke B&af. 41 43 84 9.6 74. 4 9% B ER 44 44 88 12.8 7152
2050 Rl = 4 45 89 16.0  73.0 3501 HEF fE=— 43 53 96 22.4 713.6 415f =ik 8 45 41 92  17.6 144 180 Al A 39 41 80 4.8 75.2
2860 M= B 36 37 13 0.0 73.0 3510z #JIl #0%m 35 45 80 6.4 73.6 41660 =5 R 45 4] 92  17.6 144 481fL 7aE KA 47 49 9 20.8 752
2870 Ak =ik 39 42 81 8.0 73.0 30260 Rk BB, 48 45 93 19.2  73.8 NIt I =% 37 39 76 1.6 74. 4 0 EF X 51 53 104 28.8 752
288 MIH iF. 51 54 105 320  73.0 353 FHx I§ YA 3.2 73.8 41861 Tem A3 40 44 84 9.6 74. 4 483f gk & =l 39 41 80 4.8 75.2
2806 LA =& 43 46 89 160 73.0 B4 B Bk 43 42 8 11.2 713.8 4196 #F BER 36 40 76 1.6 74. 4 B B =B 50 54 104 28.8 752
2006 FEm B 39 42 8l 8.0 73.0 355 Mx B 38 39 77 3.2 73.8 4206 #AJI #Nam 36 40 76 1.6 74. 4 485 EF Bk 4 46 88 12.8 7152
20162 ®F  SriF 4T 50 97 240 73.0 B ' HH 46 47 93 19.2  73.8 DI WX B 40 44 84 9.6 74. 4 486f; &kE =&k, 46 50 96  20.8 752
200 Mm%k =8 35 38 73 0.0 73.0 B #E B 41 44 85 11.2  73.8 26 Wx Bl 36 40 76 1.6 74. 4 487 BHAR &5 & 47 88 12.8 7152
203 @A E— 39 42 81 8.0 73.0 358f EEHE =R=. 4 44 8  11.2  73.8 3% XE 5. . 43 49 92  17.6 7144 G ENET 45 51 9  20.8 752
20460 MFH w— 42 47 89 160 73.0 A 41 44 85 11.2  73.8 DA Bl &2 39 45 84 9.6 74. 4 489 #mim =7 4 52 96 20.8 752
2050 Hm LA 38 43 8l 8.0 73.0 3600 Bk ko 53 56 100 352  73.8 450 WA RE 72 50 92 17.6 144 T 48 56 104 28.8 7152
20601 HEHF BEF 42 47 89 160 73.0 I mME =8 36 41 77 3.2 73.8 16 T &=z 38 46 84 9.6 74. 4 01 ILA Z@& 39 49 88 12.8 7152
207 W% =8 38 43 81 8.0 73.0 362f1 Bl 35 39 46 8  11.2  73.8 DT R Xk 38 46 84 9.6 74. 4 1927z =2/ L%, 42 54 96 20.8 752
208 =3@ &F 37 44 81 8.0 73.0 3631 BHF BEF 38 4/ 8 11.2 713.8 428FL A SFEF 2 50 92 1.6 144 493 LA F— 52 49 101 25.6 /5.4
2007y W% B 36 45 8l 8.0 73.0 3646 =B Ro 54 44 98 240 74.0 19 WA EO 45 55 100 25.6 744 4946 EH RS 3 42 85 9.6 75. 4
300 1 B 43 43 86 12.8  13.2 36561 Ml TekE 53 45 98 24.0 740 4300  InEE  Joit. 51 92 17.6 7144 495%; IR IEE 47T 46 93 17.6 154
301z #miE =7 43 43 86 12.8  713.2 3660 =i =7 49 41 90 16.0 740 4316 Al R 4T 42 89 14.4 T4 6 S 46 47 93 17.6 154
3022 (LA @A 42 4 86 12.8  13.2 3676 R =— 3 39 82 8.0 74.0 32 Bl — 46 43 80 144 746 497 Ak B %6 47 93 17.6 7154
303fL AR =k 42 4 86 12.8  713.2 368 miH WE 47 43 90 16.0 740 433 =& & 46 43 89 14.4 T4 6 498z (UF iEZ 2 43 85 9.6 75. 4
304 = H=F 42 4 86 12.8  713.2 369 /NE B D 40 82 8.0 74.0 346 WE —RL 45 44 80 144 746 490fL &2 TEA. 1 43 85 9.6 75. 4
305 M@ A 4 4 86 12.8  713.2 3706 =)l 8h 53 53 106 320 74.0 4351 @ BX 45 44 80 144 146 500 =ah »i= 46 47 93  17.6 154
30661 £ B . 46 48 94 20.8  73.2 31 =k IR 45 45 90 16.0 74.0 43662 Fi0 I 20 41 81 6.4 74.6 5016 #hE Bk 1 43 85 9.6 75. 4
307f LA B 38 40 78 4.8 73.2 3N AN 3% 45 45 90 16.0 740 4376 EBF  FE 44 45 80 144 746 50261 Il #a— 2 43 85 9.6 75. 4
308 Em BBIT 41 45 86 12.8  713.2 33 A K= 4 46 90 16.0 740 4386 BRI 4 45 89 14.4 746 503/ &I %6 47 93 17.6 7154
309 BZA M 36 42 78 4.8 73.2 346 EIR = 48 50 98 240 740 430F WA =R 42 41 89 144 T4 6 504f% TrA ERHI 4 44 85 9.6 75. 4
3106 FBHE Bl 43 51 94 20.8  73.2 35 BE =4 52 54 106 32.0 74.0 4406 ¥[A  #ME 42 41 80 144 746 505 A3 #% 45 48 93 17.6 154
1 BE BRI 39 47 86 12.8  713.2 366 R KB 0 42 82 8.0 74.0 ML AN &5, 42 41 89 144 T4 6 5066 Al BTe 3740 77 1.6 75. 4
2 MR =8 35 43 78 4.8 73.2 1L BRE Wi 39 43 82 8.0 74.0 6 EF BER 42 41 80 144 746 507 #hAk —% 44 85 9.6 75. 4
313 W B=. 53 46 99  25.6  73.4 38 /AR TE 39 43 82 8.0 74.0 Y3 AR Eif 38 43 81 6.4 74.6 50861 A & & 44 85 9.6 75. 4
R EEE] 39 36 75 1.6 73.4 39 EER &R 54 60 114 40.0 74.0 AR Nk Bk 4 48 80 144 746 5096 Mk MIZE. 47 54 101 25.6 /5.4
315 FiE k. 43 40 83 9.6 73.4 380 A I5 38 44 82 8.0 74.0 450 BE ko 48 80 144 746 510 MZx B 34 43 77 1.6 75. 4
3166 =8h Hi= D 41 83 9.6 73.4 381 i B 42 43 90 16.0 740 446 #HA Ea 4 48 89 14.4 T4 6 511z #h3F A 62 52 114 38.4 7156
37 mHE B 42 83 9.6 73.4 ML BFH BT 45 53 98 240 740 TR BFK B 40 49 89 14.4 746 512 KAR —=% 4T 43 90 14.4 756
318 Mm% B 37 38 15 1.6 73.4 383 il K& 1 49 90 16.0 74.0 148 mE =&k, 43 54 97  22.4 746 5130z AIZ Bk 47 43 90 144 756
319/ e &E 37 38 75 1.6 73.4 384 MIH EF. 49 5/ 106 320 740 9 X1E =8 34 47 8l 6.4 74.6 514y BA Ba 54 52 106 30.4 756
32061 A IEA 37 38 75 1.6 73.4 385 A B 49 5/ 106 320 74.0 4500 DNgE  359v 46 40 86 11.2 748 516 i Beth 46 44 90 144 756
N & & 40 43 83 9.6 73.4 3860 BB BEE 45 61 106 320 74.0 451 #E IEE 53 49 102 27.2  14.8 516z MIMH 1A 54 52 106 30.4 756
L A B 4 47 91  17.6  13.4 38ThL FEEH mR. 37 53 90 16.0 740 45201 ®IL E— 4 42 86 11.2 148 5176 MHE tF. 53 53 106 30.4 756
323 ‘I fa—. 48 51 99 256 134 3B AN B %6 41 8] 12.8 7142 453F  hA  ®Eh 43 43 86 11.2 148 518 AR =ik 49 49 98 22.4 756
3241 BEH &% 52 55 107 33.6  13.4 3896 Tk =— 45 42 8] 12.8 742 546 /) BE 39 39 78 3.2 74.8 519f #alm A=7F 49 49 98 22.4 756
325 fhm BB 39 44 33 9.6 73.4 300 WlR Xk T 38 19 4.8 74.2 4556 B Eh 38 40 78 3.2 74.8 5200 #ERR A 4 82 6.4 75.6
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JIE {5z mEES OUT IN GROSS HDCP NET JIE{sz HEES OUT IN GROSS HDGP NET JE {5z BEES OUT IN GROSS HDGP NET JIE {5z HHEA OUT IN GROSS HDGP NET
521 =<FEH 1Tl 48 50 98 22.4 756 5861 M= B 44 34 78 1.6 76. 4 65110 Ak Eik. 4 49 93 16.0 77.0 T166 iR FRIE 4 53 9] 19.2  71.8
522 #@ 1IE— 40 42 82 6.4 75.6 587 Bl = 51 43 94 17.6  716.4 6520 4210 BIEQ 36 41 77 0.0 77.0 T HE BER 47 58 106 27.2 71.8
523 #all Bk 4 46 90 14.4 756 5880 Nk Z &l 40 38 78 1.6 76. 4 653 ¥& #01E 43 50 93 160 77.0 71806 FE Mo 39 50 89 11.2 77.8
5241y Rl =B 47 51 98 22.4 156 L EEEI N 4 42 386 9.6 76. 4 6541 @Il B_= 47 54 101 240 77.0 7196 WE = 46 59 106 27.2 77.8
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